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Question Number : 1 Question Id : 908988177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is the first step to insert a formula in MS Excel?

Options:
; « Select the cell you want to place the formula into.

> w Lype the equal sign (=) to tell Excel that you are about to enter a formula.

3%
Enter the formula using any input values and the appropriate mathematical operator that make up your formula.

4 % Choose the new command from the file menu.

Question Number : 1 Question Id : 908988177 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 2 Question Id : 908988178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
During data processing, the actual execution of the instructions takes place in

Options:
1 ® an output unit

- % the control unit

= % ahard disk



4  an arithmetic logic unit

Question Number : 2 Question Id : 908988178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 3 Question Id : 908988179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
DNS stands for:

Options:

1 Domain Name System

- u Digital Name Server
s ® Dynamic Name System

4 w Digital Name Service

Question Number : 3 Question Id : 908988179 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:

. » Domain Name System (378w a7 fawes)

, » Digital Name Server (3fSesr a5 #=)

. « Dynamic Name System (STI=TH® ARTEEH)



, « Digital Name Service (Bf5ee = wfam)

Question Number : 4 Question Id : 908988180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which type of scanner is used to read Universal Product Code?

Options:
; % MICR

- ® OCR
3 # Flatbed

4 + Bar Code Reader

Question Number : 4 Question Id : 908988180 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 5 Question Id : 908988181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following option CANNOT be used 1o send your scanned photogrmphs te vour friend through the Internes?

Options:
1 « Java

> % E-mail

5 % Yahoo! Messenger

4 » Google Talk



Question Number : 5 Question Id : 908988181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1« Java

- % E-mail

- % Yahoo! Messenger

, » Google Talk

Question Number : 6 Question Id : 908988182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A on a disk is one of the many circular ring shaped areas where data is written magnetically.

Options:
1 « Track

> % Text box
o R Owal

4 w Rectangle

Question Number : 6 Question Id : 908988182 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 7 Question Id : 908988183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



To be ‘Bootable’, a primary partition must be:

Options:
, % Opened

> o Active
- % Shut

4 # Closed

Question Number : 7 Question Id : 908988183 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 8 Question Id : 908988184 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To preview a motion path effect using the custom animation task pane. you should:
I.  Click the play button

II. Click the show effect button

III.  Double click the motion path

Options:
¢ OnlyI

1
> % OnlyIl
5 # OnlyIII

4 % LII and III



Question Number : 8 Question Id : 908988184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 9 Question Id : 908988185 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is first discovered computer virus in India?

Options:
1 % C-Brain

> % Columbus
- % Mac bug

4 « Happy Birthday Joshi

Question Number : 9 Question Id : 908988185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 10 Question Id : 908988186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In order to create columnar data in Word you need to

Options:
; w tab consecutively until cursor reaches the desired place

o « Use Tables or format page with columns

z % use Excel

4 % press the space bar until your cursor reaches the desired place

Question Number : 10 Question Id : 908988186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 11 Question Id : 908988187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which Ribbon in MS Word 2016 shows what fonts are available for use?
Options:

1 % View

> % Layout

z % Reference

4 + Home



Question Number : 11 Question Id : 908988187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
. =0/ View
1_ e P,

, » A3 / Layout
- % R®&=F / Reference

, v B# / Home

Question Number : 12 Question Id : 908988188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The PowerPoint view that displays only text (title and bullets) is:

Options:
1 # Slide Show

®

Slide Sorter view

ra
B

- % Notes page view

4 + Outline view

Question Number : 12 Question Id : 908988188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 13 Question Id : 908988189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



How can you disable extended selection mode in MS Word?

Options:

, w PressF8 again to disable

> # Press Del to disable
3 « Press Esc to disable

4 % Press Enter to disable

Question Number : 13 Question Id : 908988189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 14 Question Id : 908988190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is a data processing unit?

Options:
1 CPU

- % RAM
- % Hard Disk

4 = Floppy

Question Number : 14 Question Id : 908988190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 15 Question Id : 908988191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does the Now() function return in MS Excel?

Options:
1 « It returns the current date and time

> % It returns current date
= % It returns current time

4 # It returns the current hour

Question Number : 15 Question Id : 908988191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 16 Question Id : 908988192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
1s a Geometric arrangement of devices on the network.

Options:
, « Topology



- % Protocols
z % Media

q ® LAN

Question Number : 16 Question Id : 908988192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 17 Question Id : 908988193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
User can use option to cancel the last editing in Microsoft Word.

Options:
1 % Save

> « Undo
z # Redo

4 % Unsave

Question Number : 17 Question Id : 908988193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

. % ®F / Save

5 .3-1?!?;—;:! Undo



=E f@fRedn

4 % 38T / Unsave

Question Number : 18 Question Id : 908988194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

i5 the program that manages the bardware of the computer system including the CPU, memory storage devices
and input/ontput devices.

Options:
1 ® Software

o o Operating system
z % Hardware

4 % System software

Question Number : 18 Question Id : 908988194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 19 Question Id : 908988195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following view is NOT available in MS PowerPoint?

Options:
1 % Slide Sorter

> % Outline view

- » Reading view



4 « Colour view

Question Number : 19 Question Id : 908988195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 20 Question Id : 908988196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The formula in cell A2 is = B2 +— C3. On copyving this formula in cell C2 the formula will be:

Options:
, % =D3+E4
> « =D2+E3
2 % =D2+E4
4 % =D3+E3

Question Number : 20 Question Id : 908988196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

, % =D3 + E4
» ¢ =D2 + E3
s % =D2 + E4

. % =D3 + E3



Question Number : 21 Question Id : 908988197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Ms-Word 2013, Replace command is available within the:

Options:
1 + Home tab

> % Insert tab

- # Page layout tab

4 % Review tab

Question Number : 21 Question Id : 908988197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Ms Word, 2013 &, Ifa®2ma= (replace) FHTS Fgr 39aee 2T 27

Options:

1.«—-"‘33”:['%3
o % FTHC CT
5 % YT SIHT3T &

4 ® ﬁ‘?‘gh

Question Number : 22 Question Id : 908988198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
supports direct, “live” electronic communication between two or more persons.

Options:
1. Instant 11113553git1g

> % E-Shopping

- u Internet Telephone

4 % E-leaming

Question Number : 22 Question Id : 908988198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 23 Question Id : 908988199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A person who uses his or her expertize to gain access to other people’s computers to get information illegally or do
damage is a
Options:
. ® Spammer

- « hacker

5 % mmessenger

4 # spoofer

Question Number : 23 Question Id : 908988199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 24 Question Id : 908988200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
PDF stands for:



Options:
1 « Portable Document Format

- #% Portable Document File
= % Portable Data Format

4 % Portable Data File

Question Number : 24 Question Id : 908988200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

o Sréee gi’-:lz@z' ®iTAT (Portable Document Format)

. GiEad stE#gHAT WS (Portable Document File)

z

_ « 9réad 327 BHAT (Portable Data Format)

, « Srésd 327 WA (Portable Data File)

Question Number : 25 Question Id : 908988201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

To apply or remove italic formatting in MS Excel 2013, press keys together.
Options:

1 % Ctrl+1

w8 ChHEF 2

2 o Ctrl +3

4 % Cirl+4

Question Number : 25 Question Id : 908988201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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. % Ctrl + 1



, % Ctrl + 2
2 v Ctrl + 3

L% Ctrl + 4

Question Number : 26 Question Id : 908988202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How can you make the selected character superscripted?

Options:
1 & Ctrl+=

» & Ctrl = Shift ~ =
o Alt+=

4 ® Alt+Shift+=

Question Number : 26 Question Id : 908988202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:
1 ® Ctrl + =

- « Ctrl + Shift + =
ST ] Alt + =

. = Alt + Shift + =

Question Number : 27 Question Id : 908988203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

DMA module can communicate with CPU through:
Options:

| % Interrupt

> % Branch instruction

-  Cycle stealing



4 % Network

Question Number : 27 Question Id : 908988203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 28 Question Id : 908988204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The possible cause of Device Manager error code 16 is that:

Options:
| « Windows cannot identify the resource needed by the device.

- » device needs to be enabled in CMOS setup.

5  there is problem with Windows operating system.

4 % achild device has been assigned a resource not assigned to parent.

Question Number : 28 Question Id : 908988204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 29 Question Id : 908988205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The .mil domain level is used for:
Options:

, % Commercial purpose

-~ % Education purpose

5  Military purpose

4 w Network purpose

Question Number : 29 Question Id : 908988205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 30 Question Id : 908988206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Network access to a port will be denied if the port is:

Options:
1 « closed

> % masked

5 # Changed

4, % hotaddressed properly



Question Number : 30 Question Id : 908988206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 31 Question Id : 908988207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following devices interferes with the wireless networks?

Options:
1 « Cordless Phones

> % Wired Speaker
5 » Wwired Keyboard

4 % Wired Optical Mouse

Question Number : 31 Question Id : 908988207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 32 Question Id : 908988208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
uses Windows image acquisition.

Options:
1 % DMouse

- % Printer
= o Scanner

4 % Plotter

Question Number : 32 Question Id : 908988208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 33 Question Id : 908988209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the kev combination to apply or remove underlining effect in MS Excel?

Options:

1 ® CIRL+9
5 o (CTRL +4
=z # CIRL+38
4 % CIRL+1

Question Number : 33 Question Id : 908988209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:




, % CTRL + 9
., » CTRL + 4
-« CTRL + 8
4« CTRL + 1

Question Number : 34 Question Id : 908988210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which file format is used to save a Zipped audio book?

Options:
1 ® ZIp

> « Zab
2 % Zib

4 % Zipb

Question Number : 34 Question Id : 908988210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1 ® ZIp

> « Zab
o zib

4 % Zipb

Question Number : 35 Question Id : 908988211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to open a word document?

Options:
i ® CIRL+W

5  CTRL+O



2 « CTRL+D

4 ®# CTRL+N

Question Number : 35 Question Id : 908988211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TS5 EFAES Wew & BT F FUSA AT E?

Options:

. % CTRL + W
. v CTRL + O
2 % CTRL + D

. % CTRL + N

Question Number : 36 Question Id : 908988212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to display the shortcut menu for a selected item?

Options:
. % Shift+F4
> % Shift+ F8
= « Shift=F10
4 % Shift+F12

Question Number : 36 Question Id : 908988212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AT H1EeH & AU eiewe A 9T i F v $Hor Fai=a #4187

Options:

| % Shift + F4

. « Shift + F8
- « Shift + F10

. = Shift + F12



Question Number : 37 Question Id : 908988213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is the fundamental element of a worksheet.

Options:
1 ® Row
> % Column

3 « Cell

4 % Line

Question Number : 37 Question Id : 908988213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T FRME FT T T g

Options:

Lwﬂ'
5 % STH
3_&-“@?’[

4.33‘_"”3?

Question Number : 38 Question Id : 908988214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which device ensures that the data required by the processor in the next memory access is available in cache memory?
Options:

1 # Cache instruction controller

- % Cache memory counter
5 % Cache program counter

4 « Cache controller

Question Number : 38 Question Id : 908988214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fi7 71 w17 gATET F1Ar € B o A tHEE A S & T s g sy 7T F
I #7
Options:

 » o fAder FTEw / ager

5 % U FEUFH FER

4 B ATEE | FEeR

Question Number : 39 Question Id : 908988215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Inkjet printer is a type of printer.
Options:

1 #% Drum

> % Band
-  Non-impact

4 % Thermal

Question Number : 39 Question Id : 908988215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Sehole TUeT T F1 T gFR 2
Options:

| ow BH
2.&5ﬁg
S.Jﬁﬁ'w
4.&53”551'

Question Number : 40 Question Id : 908988216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The contents of are lost when computer is turned off.

Options:



i « RAM
, % Storage

5 % loput

4 % output

Question Number : 40 Question Id : 908988216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
FTOE 8¢ B W Fr T @ S g

Options:

, v RAM

» » Storage

5 % input

4 = output

Question Number : 41 Question Id : 908988217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
includes one or two speakers and a microphone. all mounted to an adjustable head strap.

Options:
1 « Headset

> % Line phones
5 # Speakers

4, » Ear phones

Question Number : 41 Question Id : 908988217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
H T a0 3 Tt 3T AEHeT i § AT @t v B & 93T # gaEsy @ d

Options:

1»:«5'%?‘-"#E



L w g Bl

4 % FA | U BIA

Question Number : 42 Question Id : 908988218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What is the full form of EXIF?
Options:

, w» Exchangeable Image Fine Finish

-  Exchangeable Image File Format
5 % Executable Image Format File

, % Executable Image Finish Fine

Question Number : 42 Question Id : 908988218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

EXIF = ol &1 #ar 87

Options:

, » Exchangeable Image Fine Finish

.  Exchangeable Image File Format
5 » Executable Image Format File

4 » Executable Image Finish Fine

Question Number : 43 Question Id : 908988219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which program is used to compress large files info smaller files?

Options:
1w Win zip

o % Wwinstyle



= ® Win size

4 #% Win shrink

Question Number : 43 Question Id : 908988219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
I WIS F O Bgal #§ FNET 7 & B BF 9ems & 3uaer G e g?

Options:

| v fam o
, x A AdHr [ FETHA

5 % TaT 3TN

4 % T B3

Question Number : 44 Question Id : 908988220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which storage devices can be ejected from computer when it is still running?

Options:
1 « USB

> % Motherboard
- % Magnetic tapes

4 % Magnetic media

Question Number : 44 Question Id : 908988220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

FPel ¥ 3 50 TERuvEERs Basd 1 38F FRT g W ol ST R S Hepar g2

Options:

. » USB

. x FEIEE
3_$6 ﬂ?ﬁﬁ?l-??.'q



4 % HIATew AfEam

Question Number : 45 Question Id : 908988221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
is a free micro blogging service that allows registered members to broadcast short posts called tweets.

Options:
1 # Facebook

> o Twitter
%z % Gmail

4 % Browser

Question Number : 45 Question Id : 908988221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
v forees AEHE s AT g S TeigE weE # e A ol 9 gEfE &9 A
HegArE & ¢

Options:
1 % Facebook

5 « Twitter
=z % Gmail

4um

Question Number : 46 Question Id : 908988222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which file is the batch file that is read while booting a computer?

Options:
1 « Autoexec.bat
> % Auto-batch

%z % Auto.bat

4 % Auto-bat

Question Number : 46 Question Id : 908988222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
FoULT FT G T TAT FiA AT 99 FHA T AT 87

Options:
1 « Autoexec.bat

- # Auto-batch
= % Auto.bat

4 % Auto-bat

Question Number : 47 Question Id : 908988223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The vision of 1s “Transforming e-Governance for Transforming Governance™.

Options:
1 « e-Kranti

- # e-care

5 % e-payment

4 % c-blog

Question Number : 47 Question Id : 908988223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

FT ST "THBIHT TaaF & T S99y TgeiaT 2l
Options:
1« e-Kranti

> % e-care

- = €-payment

4 % €-blog

Question Number : 48 Question Id : 908988224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Techniques for identifying individual uniquely is known as:

Options:



1 + Bilometric identification
> % Phishing
5 ® Sensing

4 ® Observing

Question Number : 48 Question Id : 908988224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

e ofem =t Rftre w7 & e & T sg7a gaas & 5w a3 § = 56T 82
Options:

| v SOARE TEE=

o R o TRTeT
3 ® ﬁ S

4 % HIolh

Question Number : 49 Question Id : 908988225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
chart detects optimum combinations between two sets of data in MS Excel.

Options:
1 # Stock

> % Pie
= % Bar

4 « Surface

Question Number : 49 Question Id : 908988225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
IE MS Excel # 227 &F &7 ¢ & &9 Tv¢aH AT FT IaT 90T 2

Options:
1. % EIh




T
E.éﬁm

4 v TIHH

Question Number : 50 Question Id : 908988226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Diata visualisation programs such as business intelligence software make use of _tool for data summarization,

Options:
1 % function

- % INAacros
3 # chart

4  bivot table

Question Number : 50 Question Id : 908988226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Farsee gEfaere AiweaaT o 2T Rgemsene o 27 F Eeitas F fw T YU
#eT B

Options:

1 ® WF—T

g_éﬁﬂa’ﬁ-
S.WE'T&
4 TEE Orferenr

Question Number : 51 Question Id : 908988227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In general, the term refers to the permission to use.

Options:
1 % start

> % abort



3 o access

4 % resume

Question Number : 51 Question Id : 908988227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT, oeg 3UANT A HT AT FT HefSd FaT B

Options:

1_&3@%
, & I

-

S_ym
==

4 % ~

Question Number : 52 Question Id : 908988228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

By using empty sections of a file, the virus can infect a file without changing the size of the file making it more
diffeult to deteet,

Options:

| % emory

> # stealth

o « Space filler

4 % MBR

Question Number : 52 Question Id : 908988228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
WIS & Wher W (FR) 5 ITAET T IO TET F AER F onEEs B RE wea
T TFRT FT T ¢ s w3 ogae AT o afee =fea & I E

Options:
> % TIeY

5 v FIHBeR



. % MBR
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Letter of Dr SJ Quasim to his grandchildren Moni and Baba
Dearest Moni and Baba,

It is nearly six months now since | met you both in America,
but back in India, hardly a day passes when | do not
remember you. Your sweet talk and the questions you used to
ask me are still fresh in my mind.

You might have forgotten, but | still remember you telling me
about the hurricane which hit your city (Gulf Port in Mississipi)
in 1997; the havoc and devastation it caused and the way you
were all moved to a safe place, away from the coast. Then
you asked me lots of questions about hurricanes. How are
these caused? Why do they come to our area and not
elsewhere? Can we make them change their direction? Is
there anything we could do to stop them?

Hurricanes are generally formed in tropical oceans. They are
known by different names in different regions of the world,
such as ‘typhoons’ in the North Pacific, ‘hurricanes’ in the
South Pacific and North Atlantic and ‘cyclones’ in the Indian
ocean (Bay of Bengal and Arabian Sea). They are formed by
the energy released from the sea which gets concentrated at
one place in the atmosphere in the form of a coil or spiral. A
full-sized hurricane is 100 to 150 km across, with winds of 120
kilometres per hour. The spiral is known as the core of very
low pressure with an eye of 30-50 kilometres wide in the
middle. The eye of the hurricane has perfectly calm weather,
clear sky and no rain. Around the eye lies the core with winds
of very high speed, thunder, lightning, torrential rain and heavy
cloud. Within a hurricane, the energy keeps changing—either
multiplying or dispersing or recharging and even 600
kilometres from the core, the wind speed can go up to 50-60
kilometres per hour. The average life span of a hurricane, from
the time it is formed until it finishes, lasts for about 6 days. But
this can vary, and some can go on with varying intensity for as
long as two weeks.

| am afraid there is no technology known yet to change the
route of the hurricane. The only thing we can do is to develop
more and more accurate forecasts about where exactly the
hurricane is likely to hit. Once this is known, we need a good
system of evacuating the population to safer places. This is
called ‘hurricane preparedness plan.’

With lots of love,
From,

Abba



Sub questions

Question Number : 53 Question Id : 908988230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What are hurricanes of the Indian Ocean called?
Options:

, % Iyphoons
=~ % Storms

5 Cyclones

4 » Depressions

Question Number : 54 Question Id : 908988231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What is the average life span of a hurricane?
Options:

, % 15days

- o O days

5 ® 3 days

4 = l0days

Question Number : 55 Question Id : 908988232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What is the innermost part of the hurricane known as?
Options:

, % Spiral
> # Coil

5 « EYe

4 % Core

Question Number : 56 Question Id : 908988233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What is the width of a full-size hurricane?
Options:
1 « 100-150 km

> % 30-50 km

Question Number : 57 Question Id : 908988234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the suggestion the grandfather finally makes about
the hurricane preparedness plan?

Options:

; w Change the direction of the hurricane

> # Move to safe places after it hits
5 % 1ty and stop them from hitting the land

4  Get correct forecasts to protect people in advance

Question Id : 908988229 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 53 Question Id : 908988230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
fée AR & qEE! F FT FEd 87

Options:

1 ® EI’\

R t\

3 v THAd

4 % QUG

Question Number : 54 Question Id : 908988231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TEE FT AET aT Fer haar g 87

Options:

Question Number : 55 Question Id : 908988232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
qFA & I 3w gl & foFg &9 & & S
g7?

Options:

1 % SRR

o ® 2

S_Jiiag



4%“

Question Number : 56 Question Id : 908988233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
qUT AR & JBI i diste fehaell glar 872

Options:

; « 100-150 f&ar

5 30-50 T
- = 50-80 Ty

L = 120 B

Question Number : 57 Question Id : 908988234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

eI 3T TH IR ATl & T H FaT G
o &2

Options:

. O 1 feRm s

1
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COUANTITATIVE AFTITULE

Section Id : 90898837
Section Number : 3

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 90898837
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 908988235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What approximate value should come in place of the question mark (?) in the following questions?
(You are NOT expected to calculate the exact value.)

380+ (2.6 x6.9)=2
Options:
1 22

- ® 17

Question Number : 58 Question Id : 908988235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

fefof@a 9ol # wed fEa (7) & T W HgAAd A T g A1ge?
(3TI=RT TETF AT FT IUAT F T HT2TFT 72l g1)

389 + (2.6 x 6.9) = ?
Options:

1 ¢ 22

Question Number : 59 Question Id : 908988236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T 1000 45 lent our in two parts — one af 6% simple interest and the other at 8% simple interest per anmaun, The yearly
ingome is T 75, Fingd the amount that was lent ol a1 8% simple interest,

Options:

1 ®% 20650



> o TT50

N
i
[

3&33.

4 % T450

Question Number : 59 Question Id : 908988236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
71,000 #r TR # & Frar # 3uUR @ 740 § - TF 6% TFURT S8 W AR GIRT FreaTr 8%
WIROT ST 9T Sk 31T T94 75 gl 98 Uy fFaet & 5 8% Tremor sore o3 & 79 272

Options:

| % 2650
o« 2750
5 = 2550

. # T450

Question Number : 60 Question Id : 908988237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If 0.00239 + 0.000715 = 3.105 x 10" then the value of k is:
Options:
1 % —4

Question Number : 60 Question Id : 908988237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Tfg 0.00239 + 0.000715 = 3.105 x 10X g & k 1 AT FT &2

Options:
1 ® -4

o o =3

3_-‘»’33



4 % 4

Question Number : 61 Question Id : 908988238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To win an election, Situ needs 75% of the total votes cast. If after ;_ of the votes have been counted, she has : of what
she needs, then what part of the remaining votes does she still need?
Options:
i)
1.

i
S
0o |

oo | o

Question Number : 61 Question Id : 908988238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

et gera #t SiEe & B dg & F9 B v 9 F 75%  F%a &)1 37 2/3 S 5 v F A
IHS UTH HEMIe ST & 56 § T 3§ o 91 & o wer & 58 andr ofr e BT

Options:

, % 14
., = 1/6
2« 3/8

. % 5/8

Question Number : 62 Question Id : 908988239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
1080 chocelates were distributed equally among students in such a wav that the oumber of chocolates received by each
student iz 30% of total number of students. How many chocolates did each student receive?
Options:
1 ® 15

o> ® 16



3. ¢ 18
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Question Number : 62 Question Id : 908988239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
1080 ARl & FE o1 F I FAF 79 ¥ 3H W Faig B @ o7 F 990 o 3 e
wieele $T TEAT O F FE TE & 30% 1 v oF A Fee S 9 @ #7

Options:

3¢ 18

Question Number : 63 Question Id : 908988240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
If the selling price of an article is doubled, the profit on it triples. What is the percent profit?

Options:
1 ® 80

5 o 100
s % 120

4 % 150

Question Number : 63 Question Id : 908988240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

oy B 35 A BT e T & S § A SET WIS A A IET @ S ) S A F
a7

Options:

-« 100

2 % 120



4 % 150

GEMERAL MENTAL ABILITY AND EEASONING

Section Id : 90898838

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 90898838
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 908988241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Study the following arrangement carefully and answer the question given below:
RESDAPS3TIQ79B#2K%UIMW4*J8N

Which of the following is seventh to the left of the sixteenth from the left in the above arrangement?

Options:
1 ® A

2_-&3{;

4 T

Question Number : 64 Question Id : 908988241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Tafaf@T sy & aaEs 9 3R 38 §9 T T NRAF # 5cR S
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Options:
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Four wouds are given. Which of them will come second if all of them are arranged alphabetically as in a dictionary?
Options:

1 % Haste

-  Haphazard

= % Host

4 % Hang
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Options:

, % Haste

.  Haphazard

= % Host

4 % Hang
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Select the option that is related to the third term in the same way as the second term is related to the first term.
MAD :JXA :RUN:?

Options:

1.+ ORK



- u 0SQ
= % PRI

% UXQ

Question Number : 66 Question Id : 908988243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ag Reed g9 S IEY 98 § 38 IR ¥ HefUd ¢ O 9eR g8 98 9Ee 9§ § Fafd gl

MAD : JXA = RUN : ?
Options:

. v ORK
. % 0SQ
- % PRJ

. = UXQ
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In the question. below are given two statements followed by two conclusions oumbered I and II You have to take the
given two statements fo be true even if they seem to be at variance from commonty known facts. Read the conclusion
and then decide which of the conclusions logically follows from the given statements. disregarding commeonly knewn
facts.

Statements: Mo man s a donkey. Rahul 152 man.
Conclusions: I Rahul is NOT & donkey,
II, All men are WOT Rahul.

Options:
, « Ouly conclusion I follows

> % Only conclusion II follows

- % Both conclusionIand II follow

4 % Neither conclusion follows
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Four pairs of words are given, out of which the words in four pairs bear a certain commeon relationship. Chooese the pair
in which the wards are differently related,

Options:
1 % Shoe : Leather

- ¢« Iron : Axe
- # Table : Wood

4 » Jewellery : Gold
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In the following gquestion, a word is represented by enly one set of munbers as given m any one of the altematives, The
sefs of numbers given in the alternatives are represented by two classes of alphabets as in the two given matrices. The
columns and rows of Matrix T are mumbered from 0 to 4 and those of Matrix IT from 5 to 9, A letter from these matrices
catt be represented first by its row and then the column number e.g in the matrices for questions 1 1o 4. M can be
represeniad by 14, 21. etc; o can be represented by 20, 32, etc. Similarly you have to identify the correct set for the word
miven in the quesnon.
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Options:

1 10, 56, 44, 97
. % 41,68,01,77

s 22,75,32,86

4 % 33,99,42, 59
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. » 10,56,44,97
. » 41,68,01,77
. % 22,75,32,86

, = 33,99,42,59
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Who has been designated as the ‘Man of the Decade’ by Time magazine?
Options:
1 % Nelson Mandela

» % Ronald Reagan

z % Dalai Lama

4  None of the given options
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In the question given below, there are two statements labelled as Assertion ( A) and Reason (R}

Mark vour answer as per the codes provided below:

Assartion (A): The Darwinian theory of natral selection sometimes referred to as *the survival of the fiftest® explains
the origin of many species as a normal process of descent from parent forms.

Reason (R): The contemporary distribution pattem ol imany organsims 15 often the result of natural migration or
dispersal from original centen(s) of development.

Options:
, » Both A and R are true and R is the correct explanation of A

-  Both A and R are true but R is not a correct explanation of A

z # A ls true but R is false

4 % A is false but R is true
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Who is known as Father of White Revolution in India?
Options:

1 #% M. S. Swaminathan

> « Dr. V. Kurien
3z % K.N. Bahal

4 % B.P Pal
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The major aim of devaluation is to;

Options:
1 ¥ Encourage exports

> % Encourage imports
5 » Encourage both exports and imports

4 % Discourage both exports and imports
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Which of the following do NOT have a definite shape?

Options:
1 % Paramecium
» » Euglena

- % Ilypanosoma

4 « Amoeba
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Who among the following pioneered the social and religious movement of the 1oth Century in India?

Options:
, « Ram Mohan Roy

> » Dayanand Saraswati
= % Swami Vivekanand

4 % Aurobindo Ghosh
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Wormens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelve months of the yvear. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Section Number : 1

Section type: Typing Test
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Number of Questionsto be attempted: 1
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Question Number : 77 Question Id : 908988254 Question Type: TYPING TEST Display Question Number : Yes

Playing sports is a favorite activity for many people around the world. It provides us with enjoyment and also
freshens up our mind. However, playing sports is actually more than running, jumping or kicking a ball on the
field. Indulging in sports helps our body function smoothly and in a more efficient manner. Sports involve the
activity of each and every muscle in our body. This strengthens as well as promotes good health. 50, one
should definitely play sports and understand the major health benefits associated with it. It gives you a
healthy heart, as playing sports helps with stretching ability. Out of all the body organs in a human body, it is
the heart that benefits the most from playing sports and there are fewer chances of malfunctioning of your
heart. When you play, your heart purmps more blood, as it is a type of workout for the body. [t also helps in
diabetes control because it helps the insulin perform in a better manner. As a result, diabetics make most of
the insulin present in their body. Also, physical activity helps in reducing the risk of type 2 diabetes. [t can
also assist in weight management, as it burns excess calories. Obesity is a big issue faced by millions of people
across the world. However, this issue can be dealt with indulging in loads of sports or similar physical
activities. Fat gets burnt and calories are shed through the rigorous physical activities involved in sports.
People, who regularly play sports, are naturally leaner and fitter. Another benefit of sports can be seen in
terms of lower hypertension. With higher level of hypertension or high blood pressure, one can becorne the
prey to stroke or heart disease. This makes controlling hypertension absolutely necessary. Hence, heing
physically active is very important. Flaying sports also helps in balancing or maintaining lower cholesterol
levels. Some experiments showed that LDL or bad cholesterol levels in sedentary people were rmuch higher,
while HDL or good cholesterol levels were significantly higher in athletes. Sports also bring a positive attitude
to vour life, if playved in a healthy manner. It refreshes the mind and helps in developing a fresh outlook
towards life. Be it any sport, just being involved in physical activities will help you build self-esteerr. When
One irmproves in any particular sport or skill, one feels good about it. Discipline also becomes a natural part of
life, when you start spending time in playing sports. This 15 because sports inspire people to live life by certain
rules and regulations and mowve towards a positive end. Children, who indulge in sports feel healthier, and
dewelop better and healthier relationships with other people. Such children have a positive and tearmn based
outlool: instilled in therm.
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